= O
A & 0l & AF S E M A
012EE 20l & LB A FRISX D ~ FOI=X D
SN FRI=T D
M FOMBXANUIA HE
TPl JZMEBYR (S &)
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
Zo=R 36,997,958 35,056,705 1,941,253
= 21,611,212
= 799,043
= 5,427,082
Al 9,160,621
FOIMEXRAMNYA MB 23,437, 142 23,307,998 129,144
= 14,906, 160
= 85,416
= 3,205,414
Al 5,240, 152
PJEFCELES 17,069,470 18,443,226 A 1,373,756
= 13,652, 194
= 1,700,213
Al 1,717,063
M 20 12,975,025 13,967,507 992,482
= 10,380,019
= 1,297,503
Al 1,297,503
307 2120 & 12,975,025 13,967,507 992,482
= 10,380,019
= 1,297,503
Al 1,297,503
10 AHBI =X 2 = 12,975,025 13,967,507 992,482
OJZMERRLZ X MH S0 12,975,025
= 10,380,019
= 1,297,503
Al 1,297,503
=HZ30f 2,959,219 3,395,994 436,775
= 2,367,375
= 295,922
Al 295,922
307 2I2+0| & 2,959,219 3,395,994 436,775
= 2,367,375
= 295,922
Al 295,922
10 ABI =X 2 = 2,959,219 3,125,994 166,775
OJIZMERRAEZX =HS0 2,689,219
= 2,151,375
= 268,922
Al 268,922
OB220 &+l A 270,000
= 216,000
= 27,000
Al 27,000
e =1V 764,323 704,562 59,761
= 557,539
= 94,967
Al 111,817
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10 At2I SR X 764,323 704,562 59,761
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557,539
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OMASEE 2101 MUWII =X 67,400
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= H W

= H

o A& K= 0 85,484 71,582 13,902
68,388
8,548
8,548

= N W

307 212+01 ™ 85,484 71,582 13,902
68,388
8,548
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= HnH

10 At S X2 X 85,484 71,582 13,902
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8,548
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= HnH
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26,180
3,273
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= HnH

307 212+01 A 32,726 38,969 NB,243
26,180
3,273
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= H W

10 A2l S RI2X 32,726 38,969 NB,243
OXta2IHS =2 32,726
26,180

3,273
3,273

o

= N W
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252,693 264,612 A11,919
252,693

W

307 212+01 252,693 264,612 A11,919
252,693

H

10 AEI =X 2 X 252,693 264,612 ~11,919
OIZMEL2T LD 252,693

252,693

W

FHAAHESX A 3,258,942 2,567,334 691,608




SN FI=XD
M FOIMETAMNEA K
Sl HOIH SR (S5 &2)
_ _ _ Muo
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= 830, 966
= 111,225
Al 2,266,751
A2 285,430 285,430 0
= 228,344
= 28,543
Al 28,543
307 21201 & 285,430 285,430 0
= 208,344
= 28,543
Al 28,543
10 AEI =X 2 X 285,430 285,430 0
OAZ =X 285,430
= 208,344
= 28,543
Al 28,543
HOIXt 25 7,000 7,000 0
301 YBHE LS 4,000 4,000 0
12 JIEtR &2 4,000 4,000 0
O#OI Xt X &t 1,000, 00021 %472 4,000
307 2120l & 3,000 3,000 0
01 92272t 3,000 3,000 0
OO Xt 25| 20,0002 %150 3,000
NEPEEESEY 759,820 592,000 167,820
= 607,856
= 77,682
Al 74,282
307 21201 & 759,820 592,000 67,820
= 607,856
= 77,682
Al 74,282
10 AFEI S X 2 X 759,820 0 759,820
OXHABINEIA SXEAFLS 759,820
= 607,856
= 77,682
Al 74,282
INEZSWI Al X 16,660 8,330 8,330
= 5,000
Al 11,660
307 21201 & 16,660 8,330 8,330
= 5,000
Al 11,660
10 ALSI =X 2 X 16,660 8,330 8,330
OJIZECHIAY X2 16,660
= 5,000
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01 Al&H| 2,000,000 1,500,000 500,000
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BI A 0L [} 24 Al & 78,372 85,774 AT,402
= 39, 186
Al 39, 186
101 Q1214 78,372 76,000 2,372
= 39, 186
Al 39, 186
04 JIAH22 XS24 78,372 76,000 2,372
OMBIZSXSSHEIA H2QR 0I2iY| 78,372
=2 39, 186
Al 39, 186
HAS X0l RVAYLHE N 60,000 60,000 0
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OMAS Z0 ALYBEHE 4,830,008 <128 57,960
OMAS X0 BIQUYLH2 170,008 <128 2,040
ZOIME 2 AHIA 40,500 28,800 11,700
202 01t 1,000 800 200
01 201 bl 1,000 800 200
OAMBIZX 2R A7 1,000
203 &R = H| 3,000 3,000 0
03 AR R =X Y| 3,000 3,000 0
OF0=X NYD AlZZZ 3,000
301 YR AS 5,000 5,000 0
NEVTERE! 5,000 5,000 0
OBHMIQIB AL A1 At 50,0002 *100%S 5,000
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OLPAUOIIE SAU MRS X 6,000
401 Al EHIL 2O 20,000 10,000 10,000
01 Al bl 20,000 10,000 10,000
OABIZXIZEHE Y| 20,000
405 Xt &HE St 5,500 0 5,500
01 Xt SEH S| 5,500 0 5,500
OZet=A 7 5,500
SSABRIAY SHY X2 11,160 0 11,160
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SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 373,000
= 186,500
Al 186,500
OFUQUANLSY 1,472,511
= 1,178,009
Al 294,502
OFUQUANE S BAX SsSB4+ 57,762
= 7,500
Al 40,262
OFAMQAAL WEZ2I X2 16,240
= 4,872
Al 11,368
OFAYAL MEOl ARY N 7,105
= 2,131
Al 4,974
MEI= T2 X2 254,512 235,952 18,560
= 85,416
= 4,964
Al 164,132
307 212H0| & 254,512 235,952 18,560
s 85,416
= 4,964
Al 164,132
10 Absl =X 2 X 254,512 0 254,512
OABI=XIZ 29| 235,632
= 85,416
Al 150,216
OMEIZSRR BAX Sg4Y 11,880
= 3,564
Al 8,316
OABIZXBNA=X T2 IBSAXIR 7,000
= 1,400
Al 5,600
ZoaRenz? 57,600 57,600 0
ZozReaz? 57,600 57,600 0
301 LB A 57,600 57,600 0
09 ZU2RRABAS 57,600 57,600 0
OMBIZXAIL BA2LQA SAH|,JIEHZ Y] 28,800
OMBZSXNHLBLY HRBX BADLQ
ENEIISIET 28,800
STHAT SSABIA M2 Jlo 0r 2,850 16,970 A4,120
SRAX S8 XA 12,850 16,970 ~4,120
SRHAT S8 A 12,850 16,970 ~4,120
201 L2 Y| 8,450 13,970 A5,520
01 ALR eIt 1,200 1,200 0
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202 O4H| 3,800 3,000 800

01 = LHAOHI 3,800 3,000 800

OSE A 2= 3,800

405 AHakF S| 600 0 600

01 LS EH S| 600 0 600
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A Naags 4307y 600

e =X 58 7,422,454 6,514,645 907,809
3,107,777

713,627
1,841,170
1,759,880
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4,769,199 4,168,835 600, 364
3,092,577
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= Hl AL J
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782,590 647,068 135,522
547,668

93,969
140,953

= Hn W

307 212+01 & 782,590 647,068 135,522
547,668
93,969
140,953

= HnH

10 At3I S XI £
C|

S 782,590 647,068 135,522
OZM=& X

= 782,590

547,668
93,969
140,953

=z HnH

ZOHe 2 =4 168,591 246,902 AT78,311
134,905

16,843
16,843

= HH

307 212+01 A 168,591 246,902 AT78,311
134,905
16,843
16,843

= N W

10 A2l S RI2 X 168,591 246,902 AT8,311
OZoe 2=l K& 168,591




A FE=X 10

M HOHRl =X B
SOl FOHOl MEBEO 29 =X S (e @8
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
= 134,905
= 16,843
Al 16,843
OHQITE X7 DT 5,091 5,001 0
=2 4,073
= 509
Al 509
307 212H0| & 5,091 5,001 0
= 4,073
= 509
Al 509
INEESEES 5,091 5,091 0
OmOHY MESEIIT DT 5,091
= 4,073
= 509
Al 509
OHQICHA K| 2 100,000 64,000 36,000
= 20,000
Al 80,000
307 212+0| & 100,000 64,000 36,000
= 20,000
Al 80,000
02 MR E 30,000 20,000 10,000
OOfQ 21 ZE} 29 N 30,000
04 BIFBALR X 25,000 19,000 6,000
O 041 2 SALKIH 20,0002 *750% 15,000
ORXI338l & XZOolol & AI2AZ0jel =XIH3]
40,0002 * 1002 4,000
ORI143] ZOHQIBIOIY A0l = 6,000
10 A8l =X 2 X 45,000 25,000 20,000
OXNE ZOHY NENAMEH 29 45,000
= 20,000
Al 25,000
2AZ A X 7,450 7,450 0
301 LA 7,450 7,450 0
NEV e 7,450 7,450 0
OF= S0LRICHE &4 SAZ 40,0002 «50% 2,000
OF2 NAZML XS el HH P43
150, 000! *4% 600
ORM158 H= XHMEHQ GEHE HALSAS
50,0002 4% 600
OAZLZOQ BXTO| Bz B 243
10,0002 *30% *83| 2,400
OF= HOHO! OlEHal &M 243
50,0002 * 16% 800
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M2 oyl =X S
Rl i dEEol T2 SX S8 (el &)
_ _ _ Muo
SNBSS - MEAY - BES 01l &k o e HRE2
O&E JIsdlliiz &4 243
20,000& 25 500
Odsd & HM=EXNY S0t XEX Aol
HM8 243 110,000 «5H 550
el S5 JHH XI& 4,692 3,928 764
= 2,346
L= 1,173
Al 1,173
307 21zZtol ™ 4,692 3,928 764
= 2,346
= 1,173
Al 1,173
10 AlRISXIE X 4,692 3,928 764
OZoiel SE&HHH K& 4,692
= 2,346
= 1,173
Al 1,173
ZOHQ At ES K& 12,250 563,567 A551,317
201 get2Ad| 5,250 0 5,250
01 A2 2t 2ldl 5,250 0 5,250
OHe SsEXXNE =24 oRde &
Mg 70,000 x9H «53] 3,150
OZMUE#SEEXNE ==X 0 HAR-S
sSe=g 70,0003 x6E 53| 2,100
202 (44| 1,000 0 1,000
01 S LHAObI 1,000 0 1,000
OFONO! EXES L BOAIL BXZA 1,000
307 21Ztol 6,000 563,567 A557,567
10 AlRIS X2 X 6,000 9,000 23,000
OZOMHAX M =RAXNEE S2IFY & AIE
2 X2 (100H) 6,000
Zojel =X Litel X 73,350 57,420 15,930
= 36,675
= 18,337
Al 18,338
307 21Ztol 73,350 57,420 15,930
= 36,675
& 18,337
Al 18,338
10 At S X2 X 73,350 57,420 15,930
Zofel =XLRtel XNAS 73,350
= 36,675
& 18,337
Al 18,338
ZoHel =CIXX HE =01 At 250,822 255,645 A 4,823
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= HnH
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Al 406,192
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= 1,420,295
= 203,096
Al 406,192

HOHOtSIIE X & 175,254 151,075 24,179
= 122,678
= 17,525
Al 35,051

307 212+01 o 175,254 151,075 24,179
= 122,678
S 17,525
Al 35,051

10 At S X2 X 175,254 0 175,254
OAHHEE XA 14,400
=2 10,080
< 1,440
Al 2,880
OZ 00l MEXZ ALY 160,854
= 112,598
& 16,085
Al 32,171

ZOHel MBI ESXIA(XIR) 997,894 97,200 900,694
= 698,526
< 149,684
Al 149,684

307 212+01 o 997,894 97,200 900,694
= 698,526
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Al 149,684

10 A2l S A2 X 997,894 97,200 900,694
ozojel sk 916,8%
= 641,826
S 137,534
Al 137,534
OZojelad A2 XA 81,000
= 56,700
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702,671
,201,229
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= M A

ZOHA=SKIAE SAA EE=E 113,040 138,960 N25,920

33,912
79,128

= H

307 212+01 ™ 113,040 138,960 225,920

33,912
79,128

=z H

10 A2l S RIE2X 113,040 138,960 N25,920
ZOHISTAIE SAL SEE 113,040

33,912

79,128

=

ZOHQ XSASIHEANE 2 1,434,325 1,465,848 A31,523
702,671

414,473
317, 181

= H AL

307 212+01 A 1,434,325 1,393,848 40,477
702,671
414,473
317,181

= H A

10 A2l S RIE2X 1,434,325 1,393,848 40,477

OFe ARSHEH 2H (1) 170,380
59,633
51,114
59,633
O =atsHHH 2L (1) 101,645
35,576

30,494
35,575
OFMESE=X2 2H(1HA) 871,415
479,278
261,424
130,713
OZOHR! THIISXIMEH 2 (1IHA) 105,497
63,298
15,825
26,374
OFe =AESAE 2L (20 D) 139,220
48,727
41,766
48,727
O ZSSHEIHE 2F(1HA) 46,168
16,159
13,850
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= M H = H A = H A = H AL = H A

= H A
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=z H
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H

10 MBI SXIEx 1,075,490 0 1,075,490
OFOHel MEAE 2H(204) 1,075,490
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